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123242 56 757 8 9:;<= >:?9 @:;= >A

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EL B

1− 3
LM B

1− 4
MB B

1− 5
FC B

2− 3
EM C

2− 4
FN C

2− 5 OL C
3− 4

EO C
3− 5

ML C
4− 5

DM B
P = 28, 27, 32 P

123242 56 76 7 Q 9R 9S<:T: U <:TTR

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
E B C

1− 3
MF D

1− 4 OL C
1− 5

EF C
2− 3

EN C
2− 4 OM B
2− 5

MF B
3− 4

EE B
3− 5

LE B
4− 5

FC C
P = 45, 46, 42 P

123242 56 7V 7 WXY= TRZ[>\ U <:TTR

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EL C

1− 3
MO C

1− 4
MD D

1− 5
FM D

2− 3
EM C

2− 4
ML D

2− 5
LN D

3− 4
FC C

3− 5
LM C

4− 5
EM C

P = 47, 68, 56 P

123242 56 7] 7 ^ \<:9\ _T`<TR

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EN D

1− 3
La C

1− 4
LC D

1− 5 OO D
2− 3

DM C
2− 4 OE D
2− 5

LD D
3− 4

EO C
3− 5

LL C
4− 5

FE D
P = 51, 59, 39 P

123242 56 7b 7 c 9d9\ U e Td= TA

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
DL C

1− 3
MO C

1− 4
Ma C

1− 5
Fa D

2− 3
EF B

2− 4 OO B
2− 5

MC C
3− 4

FC B
3− 5

LF C
4− 5

EO C
P = 34, 45, 72 P

123242 56 7f 7 g XS:9\ h T?Td<

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
F B C

1− 3
LF D

1− 4
MO C

1− 5
FL D

2− 3
FL D

2− 4
LD C

2− 5
LN D

3− 4
FD B

3− 5
LF C

4− 5
E B C

P = 43, 76, 68 P



123242 56 7i7 h T[Tj9= 9\< k\>dR<:<

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EL B

1− 3
LF B

1− 4
MO B

1− 5
FM C

2− 3
Ea C

2− 4 O B C
2− 5

MC D
3− 4

FC C
3− 5

LD D
4− 5

Ea C
P = 49, 52, 26 P

123242 56 7l 7 mnTj9\< o<dZp:<

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EN D

1− 3
LE D

1− 4
MB C

1− 5
FD D

2− 3
FC D

2− 4
ME C

2− 5
La D

3− 4
FE C

3− 5
LC D

4− 5
DO C

P = 48, 50, 25 P

123242 56 7q 7 r >d= >:?9 Q <R >= Tp

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
DN D

1− 3
LC C

1− 4
MO D

1− 5
FE D

2− 3
EL B

2− 4 OD C
2− 5 OL C
3− 4

EN D
3− 5

LD D
4− 5

EF C
P = 52, 28, 29 P

123242 56 75s 7 tpn:9Au8= >;T`T:
QR<;Te T=

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
ED C

1− 3
LO C

1− 4
Ma B

1− 5
FM B

2− 3
FF C

2− 4 OF B
2− 5

MF B
3− 4

EM C
3− 5

La C
4− 5

DO B
P = 77, 53, 64 P

123242 56 7557 oTY<:9\ Qp[>nR <\

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EC B

1− 3
LM B

1− 4
MF B

1− 5
FD C

2− 3
F B B

2− 4
FM B

2− 5 OO C
3− 4

DN C
3− 5

La D
4− 5

EM D
P = 31, 26, 40 P

123242 56 756 7 vd?T: @=d >e

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EM B

1− 3
LE C

1− 4
ME B

1− 5
FF B

2− 3
Ea D

2− 4 Oa C
2− 5

MB C
3− 4

FE C
3− 5

LO C
4− 5

E B B
P = 62, 30, 68 P

123242 56 75V 7 w <d=<\?< @=d >e

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
F B D

1− 3
MF C

1− 4
MB D

1− 5
EL C

2− 3
ED C

2− 4 ON D
2− 5

LE C
3− 4

ED C
3− 5

LF B
4− 5

FF C
P = 79, 36, 70 P

123242 56 75] 7 x>= \<RZ; QR<;TnR <\

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EF B

1− 3
LO B

1− 4
LM C

1− 5
FN B

2− 3
Fa B

2− 4
ML C

2− 5
MF B

3− 4
FE C

3− 5
La B

4− 5
EF B

P = 66, 42, 79 P



123242 56 75b 7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
Fa C

1− 3
LD C

1− 4
LM D

1− 5 OF D
2− 3

EE C
2− 4

MM D
2− 5

LM D
3− 4

FE C
3− 5

Na C
4− 5

FC D
P = 51, 78, 72 P

123242 56 75f 7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EL B

1− 3
LE B

1− 4
LC C

1− 5 O B C
2− 3

Ea C
2− 4 OD D
2− 5

MB D
3− 4

EN D
3− 5

L B D
4− 5

ED D
P = 50, 63, 79 P

123242 56 75i7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
FF C

1− 3
LM B

1− 4
LD C

1− 5 OF C
2− 3

EL C
2− 4 ON D
2− 5

LE D
3− 4

DM C
3− 5

MM C
4− 5

EO D
P = 51, 72, 60 P

123242 56 75l 7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
E B B

1− 3
LO B

1− 4
MF B

1− 5
FN C

2− 3
F B B

2− 4 OF B
2− 5

Ma C
3− 4

F B C
3− 5

MN D
4− 5

DF C
P = 37, 52, 62 P

123242 56 75q 7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
EN B

1− 3
LF C

1− 4
MN B

1− 5
FO B

2− 3
EC D

2− 4 Oa C
2− 5

ME C
3− 4

E B B
3− 5

LD B
4− 5

FC C
P = 44, 38, 49 P

123242 56 76s 7

B

C

D

E

F

GHIJK
Lk,j τk,j

1− 2
FC B

1− 3
LD B

1− 4
ML B

1− 5
FM C

2− 3
DL C

2− 4 ON C
2− 5

MO D
3− 4

FF B
3− 5

L B C
4− 5

DL C
P = 62, 22, 49 P


